
      INSTALLATION INSTRUCTIONS 
        PART NO. 51-323 SMOKE      FORK WIND DEFLECTORS

   PART NO. 51-328 CLEAR         HONDA VALKYRIE 

                      VALKYRIE INTERSTATE 

                                   HONDA VTX 1800 
Revised 11/6/09 

TOOLS NEEDED: 8MM ALLEN WRENCH  10MM WRENCH  1.5MM ALLEN WRENCH 
  3MM ALLEN WRENCH  4MM ALLEN WRENCH 
 
INSTALLATION: 
 
1. POSITION THE TWO PIECES OF THE CLAMP (1A) ONTO THE FORK (FIG. 1) APPROXIMATELY 3 ½” DOWN FROM THE BOTTOM SIDE OF 

THE TRIPLE TREE, KEEPING THE 6MM THREADED HOLE (1B) FACING TO THE OUTSIDE OF THE BIKE. FASTEN THE TWO SIDES 
TOGETHER USING THE TWO M4 X .70 X 15MM SHOULDER SCREWS PROVIDED WITH CLAMP. DO NOT TIGHTEN COMPLETELY AT THIS 
TIME, JUST ENOUGH TO HOLD CLAMP IN PLACE. 

 
2. ASSEMBLE THE MOUNTING BRACKET (1C), TWO RUBBER GASKETS (1D), FACE PLATE (1E), AND DEFLECTOR PANEL (1F) WITH THE M5 

X .80 X 20MM SOCKET HEAD SCREWS (1G) AND NYLOC NUTS. 
 
3. MOUNT THE DEFLECTOR PANEL AND BRACKET ONTO THE CLAMP WITH THE M6 X 1.00 X 20MM SOCKET HEAD SCREW AND STAR 

WASHER. (FIG. 2) DO NOT TIGHTEN THE CLAMP SCREWS FROM STEP 1 OR THE SET SCREWS. 
 
4. TURN THE FRONT WHEEL ALL THE WAY TO THE RIGHT AND LEFT MAKING SURE THE DEFLECTOR DOES NOT HIT ON ANY OTHER 

PARTS. ADJUST THE DEFLECTOR ACCORDINGLY. NOW TIGHTEN THE CLAMP SCREW AND THE M3 X .50 X 5MM SET SCREWS. 
 
5. REPEAT PROCEDURE FOR THE OTHER SIDE. 
 
 

 
 

Copyright© 2000 by Big Bike Parts, 

Inc. No part of this instruction sheet 

may be reproduced without the written 

permission of Big bike Parts, Inc. 


